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Stoich iomet ry ?ract rce #2

Consider the following equotion:
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3Ag + 4HNO3 ) 3A9NO3 + NO
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Whot moss of nitric ocid, HNO3, is necessory to obtoin
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2. Using the eguotion below, onswer the following questions.
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o- Tf 4.O rtfoles of Hz gos ore reacted, how mony groms of woter would be produced?
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6.0 moles of water?
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b- If 2.45 x 102 molecules of oxygen gas are ovoiloble, how mony moles of Hz would
reoct with it?x rrcO I
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3. o- Write o bolonced eguotion f or the combustion of methone gas (CHa) to form
corbon dioxide (CO) ond woter vopour (HaO).

b- If t24.5 g of CO2 is produced, how mony moles of CH+ must hove been reacted?
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Bolonce the eguotion below:
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How mony 6ole3 of oluminum reoct with 4.5 moles of fluorine?
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c- Tf 42 g of oluminum f luorid e, AlFt ore produced, whot moss of oluminum is
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33.5 9 of oluminum f luoride2 
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(Hz) to produce ommonio gos (NHs).
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d- How mony moles of fluorine will toke port in the obove reoction to produce
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5. o- Write o balonced eguotion for the reoction of nitrogen gos (Nz) ond hydrogen gas
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6.5olidcoppercanbepreporedfromcopperoxidebyreoctin9Wittrffi-
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b-Tf 212.5 g of ommonio gas is prodr.ded, how lnony molecfries of hydrogen gos must

hove reocted with the nitrogen?

occording to the following unbolonced equotion:

.j cuo *fi{H, > Nz + jcu *$Hzo
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How mony moles of ommonio (NHs) ore needed to obtoin 9.0 moles of copper (Cu)?
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7. Iron (Fe) ond corbon monoxide (CO)ore produced when iron oxide (FezOi reocts
with corbon (C).

You would like to produce 50 mol if iron, whot moss of iron oxide is required?
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)Pbfz + ?No(NOs)
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./''.8. 200 00!ef NoI whose concentrotion is 2.0 M ore reacted with Pb(NOs)z in order
to obtoin the precipitote Pbfz occording to the eguotion below. Colculote the moss
of PbTz obtoined.
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9. When o solution of oluminum hydroxid e, Al(OH)s, reocts with o solution of sulfuric
ocid, HzSO+,the result is o solt, oluminum sulphote, Alz(SO4)3 and water,HzO.

The reoction is seen by the following bolonced equotion:
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2AI(OH)3 + 3HzSO+ ) Al2(SO4)s * 6HzO
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Whot moss 6f oluminum hydroxide is reguired to produce 100.0 g of oluminum

sulphote2
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l_ 10. Sondy neutrahzer rld^|ef HcLot o concentrotion of l.5mol/L using Ca(OH)z

accordrqg j. 1f..J*lshnfeguotion: x rj

zHCl +Co(OH)z )CaClz+ ?HzO
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Afterthe neutro#irtion, she;ttorc theLoter from the beokerto evoporote. Whot

is the moss of the CaClz thot will be left in the beaker?
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11. When z0QgUof HCI is mixed with NoHCO3,22.0Lg of COz is produced. What wos

the concentrqtion of the HCI solution used to produce this much gosZ
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